Healthy Non-Smokers vs Patient Non-Smokers

Group Statistics

N Mean Std. Deviation Std. Error Mean
Healthy 86 2.0429 .19045 .02054
Type
Patient 44 2.0068 .28886 .04355
Independent Samples Test
L s\'}'es_t for Equality of t-test for Equality of Means
ariances
g 95% Confidence Interval of
: A (Bt Mean Std. Error the Difference
a =) t e =g, (HENER) Difference Difference
Lower Upper
Equal
variances 11.006 .001 .853 128 .395 .03609 .04231 -.04764 11981
assumed
Equal
variances not .750 62.684 .456 .03609 .04815 -.06013 13231
assumed




